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FORERGE (s A 28)
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M H B % & B ) | AR Ok & i %
ASFOFEOAOHR | (50, 000) g x 14 =50, 0001 64,5004 50, 000/
SHOFEOHOH | (50, 000) X115 =50, 000 64,500 50, 000
SFOEOHOHR | (50,000) [ x 1% =50, 0001 64,5004 50, 0001
AFOEOHOR | (50, 000) I X 14 =50, 00079 64,5004 50, 0009
HSFOEOHOR | (50, 000) I X 15 =50, 00019 64,5004 50, 0009
ASFOEOHOR | (50, 000) I X 14 =50, 00079 64,5001 50, 0009
ASFOEOAOHR | (50, 000) I X 15 =50, 0001 64,5004 50, 0009
ASFOEOHOHR | (50, 000) T X 1% =50, 000/ 64,5004 50, 000/
SHOFEOHOH | (50, 000) <11 =50, 000H 64,500 50, 000
it 450, 000/
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